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We define events B3
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We define events Bi that the man hits the bull's eye exactly ¢ times.
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi)
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the
events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0381'

]

Question a) The probability of the event

P(B4)
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the
events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]

Question a) The probability of the event

P(B4) = %0.740.34 =
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]

Question a) The probability of the event

0.7°0.3* = 0.1361

6-5
P(B4) = T

8-7-
4-3-

Question b)
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]

Question a) The probability of the event

0.7°0.3* = 0.1361

6-5
P(B4) = T

8-7-
4-3-
Question b)

P(B4| UL, B:)
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]

Question a) The probability of the event

0.7°0.3* = 0.1361

6-5
P(B4) = T

8-7-
4-3-
Question b)

P((B4N (UiyBi))
P (UL, Bi)

P(BA| UL, B)) =



IMM - DTU 02405 Probability
2003-9-18
BFN/bfn
We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]

Question a) The probability of the event

0.7°0.3* = 0.1361

6-5
P(B4) = 2.1

8-7-
4-3.
Question b)

. _ P((B4AN(UL,B) P(B4) _
PO B) = =P (G, B) 1= PB0) - P(BY)
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]

Question a) The probability of the event

8-7-6-5
P(B4) = ————0.7%0.3* = 0.1361
(B4) 4.3'2.10703 0.136
Question b)
P((B4N (U,By) P(B4)
BV B) = =50 ) [ p(B0)_p(B) 190

Question c)
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]

Question a) The probability of the event

8- 7-6-5
P(B4) = ——— “0.7*03* = 0.1361
(B4) = S5 0-7'0.3" = 0.136
Question b)
P ((BAN (U,B)) P(B4)
(B4| Uiy By) P (U, B,) 1— P(B0) — P(B1)

Question ¢)

6 3 4
(2) 0.7%0.3

= =0.1363
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We define events Bi that the man hits the bull’'s eye exactly ¢ times. The probabilities of the

events Bi is given by the Binomial distribution

P(Bi) = (3)0.7'0.381'

]

Question a) The probability of the event

8- 7-6-5
P(B4) = ——— “0.7*03* = 0.1361
(B4) = S5 0-7'0.3" = 0.136
Question b)
P ((BAN (U,B)) P(B4)
(B4| Uiy By) P (U, B,) 1— P(B0) — P(B1)

Question ¢)

6
(2) 0.720.3* = 0.0595

= =0.1363



